

② ①

$$0 = \dots \Delta 1 \dots$$

$$\begin{matrix} 1 \rightarrow 1 \\ 2 \rightarrow 2 \end{matrix} \left\{ (V_4) \right.$$

$$\begin{matrix} 1 \rightarrow 1 \\ 2 \rightarrow 2 \end{matrix} \left\{ \right. (V)(4) = 1 \textcircled{2}$$

②

$$\beta \rightarrow 1) \sqrt{1+\sqrt{2}} = \sqrt{(1+\sqrt{2})^2} \times \sqrt{(1-\sqrt{2})^2}$$

$$\sqrt{\frac{(1+\sqrt{2})^2}{1+\sqrt{2}}} = \sqrt{\frac{2(1+\sqrt{2})}{1+\sqrt{2}}} = \textcircled{2 \frac{1}{2}}$$

÷)

$$\sqrt{2-\sqrt{2}} = \sqrt{2-2\sqrt{\frac{2}{2}}} = \sqrt{\left(\sqrt{\frac{2}{2}}-\sqrt{\frac{2}{2}}\right)^2}$$

$$\frac{2}{2} \times \frac{1}{2} = \frac{1}{2}$$

$$\sqrt{\frac{2}{2}} - \sqrt{\frac{1}{2}} \Rightarrow \sqrt{2-\sqrt{2}} - \sqrt{2+\sqrt{2}} =$$

$$\cancel{\sqrt{\frac{2}{2}}} - \sqrt{\frac{1}{2}} - \cancel{\sqrt{\frac{2}{2}}} - \sqrt{\frac{1}{2}} = -2\sqrt{\frac{1}{2}} =$$

$$-\sqrt{2} \left(\frac{\sqrt{2+\sqrt{2}}}{\sqrt{2}+2} \right) = \frac{-2-\sqrt{2}}{\sqrt{2}+2} = \textcircled{-1}$$

$$\sqrt{13} \rightarrow 13$$

$$\Rightarrow \frac{1 + \sqrt{x}}{1 - (\sqrt{x} - 1)} = \frac{1 + \sqrt{x}}{2 - \sqrt{x}}$$

$$\boxed{1 - \sqrt{1 - \frac{1}{2}}^2} = \frac{\sqrt{1 - \frac{1}{2}}^2}{(\cancel{1 - \frac{1}{2}})(1 + \sqrt{1 - \frac{1}{2}}^2)} \quad \checkmark$$

$$= \frac{x^2 - 2}{x^2 + x + 1} = \frac{x^2 - 2}{x^2 + x + 1} + \frac{x^2 - 2}{(x^2 - 2)(1 - \sqrt{x^2 - 2})} \Rightarrow$$

$$\frac{1 - \sqrt{1 - \frac{v^2}{c^2}}}{1 + \sqrt{1 - \frac{v^2}{c^2}}} = \frac{1 - \sqrt{1 - \frac{v^2}{c^2}}}{1 + \sqrt{1 - \frac{v^2}{c^2}}}$$

$$= \frac{1 + \sqrt{2}}{1 - \sqrt{2}} \times \frac{1 - \sqrt{2}}{1 - \sqrt{2}} = \frac{(1 + \sqrt{2})(1 - \sqrt{2})}{1 - 2}$$

$$\frac{1 - \sqrt{1 - b^2}}{b} = \frac{1 - \sqrt{1 - b^2}}{b} \cdot \frac{1 + \sqrt{1 - b^2}}{1 + \sqrt{1 - b^2}}$$

$$r_n \times \frac{1}{r_n} = 1 \Rightarrow \frac{r_n}{r_n} = 1$$

$$C_n = \frac{r_n (1 - r_n^{n+1})}{1 - r_n}$$

(1)

(2)

$$r + r^2 + r^3 + \dots$$

$$r \times \frac{1}{r} = 1$$

$$\sqrt{r} \times \frac{1}{\sqrt{r}} = 1$$

$$\sqrt{r} \times \frac{1}{\sqrt{r}} = 1$$

(-)

(b)

for

$$= \frac{1}{\sqrt{b+1} + \sqrt{b-1}}$$

$$\frac{1}{\sqrt{b+1} + \sqrt{b-1}} = \frac{\sqrt{b+1} - \sqrt{b-1}}{(\sqrt{b+1} + \sqrt{b-1})(\sqrt{b+1} - \sqrt{b-1})}$$

$$= \frac{\sqrt{b+1} - \sqrt{b-1}}{b+1 - (b-1)} = \frac{\sqrt{b+1} - \sqrt{b-1}}{2}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}} = \frac{1}{\sqrt{b+1}} \cdot \frac{\sqrt{b+1}}{\sqrt{b+1}} = \frac{\sqrt{b+1}}{b+1}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}} = \frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}} = \frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}} = \frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}} = \frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}} = \frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}} = \frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}} = \frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}} = \frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}} = \frac{1}{\sqrt{b+1}}$$

$$\frac{1}{\sqrt{b+1}} = \frac{1}{\sqrt{b+1}}$$

$$b = \frac{A+k}{r} \Rightarrow b = \frac{A+k}{r}$$

$$\sqrt{2+A} + \sqrt{2-k} - r = 0$$

$$\sqrt{2+A} - \sqrt{2-k} = r$$

$$\frac{1}{1 - \sqrt{2-k}}$$

$$\frac{r(\sqrt{2+A} - \sqrt{2-k})}{1 - \sqrt{2-k}}$$

$$\frac{r(\sqrt{2+A} - \sqrt{2-k})}{1 - \sqrt{2-k}} = \frac{r(\sqrt{2+A} - \sqrt{2-k})}{1 - \sqrt{2-k}}$$

$$\frac{r(\sqrt{2+A} - \sqrt{2-k})}{1 - \sqrt{2-k}} = \frac{r(\sqrt{2+A} - \sqrt{2-k})}{1 - \sqrt{2-k}}$$

$$\frac{1}{1 - \sqrt{2-k}} = \frac{1}{1 - \sqrt{2-k}}$$

$$\frac{1}{1 - \sqrt{2-k}} = \frac{1}{1 - \sqrt{2-k}}$$

$$\sqrt{a} = \sqrt{a}$$

$$\frac{1}{1 - \sqrt{2-k}}$$

$$\sqrt{\frac{1}{1 - \sqrt{2-k}}} = \sqrt{\frac{1}{1 - \sqrt{2-k}}}$$